Soderhamns BS

Oktobersilver 2012-10-14

Partavling, 10 bord, 20 par. Antal brickor: 26. Medel: 234.0.

Plac Par Poang % Namn MID Klubb
1 20 304 64.96  Pernilla Andreasson - Pierre Winberg 24710 87444 Bollnas BK
2 9 275 58.76  Par Netsman - Eva Netsman 81529 81530 Bollnéds BK
3 3 265 56.62  Egil Hols - Ake Forslin 30267 13135 Soderhamns BS
4 6 252 53.85  Erik Gulliksson - Jens Brodin 24169 84125 Karlstads BK
5 17 249 53.21  Olle Gullsby - Ake Wallin 3209 3214  Sodderhamns BS
6 5 247 52.78 Daniel Eriksson - Rolf Scherdin 24659 3102 Gavle BK
7 19 245 52.35 Kjell Holmgren - Sara Svanered 3368 46371 Bollnas BK
8 16 241 51.50  Urban Bjérklund - Hakan Svensson 9496 3390 Bollnéds BK
9 15 240 51.28 David Andersson - Monica Skold 3221 14873 Soderhamns BS
10 7 237 50.64 Kent Maltein - Jan-Hakan Andersson 15967 12750 Géavle BK
11 11 234 50.00 Nils-Erik Hedlund - Larry Pettersson 7585 15289 Bollnas BK - Séderhamns BS
12 2 233 49.79  John Ekdahl - Leif Linder 14874 11580 Sodderhamns BS - BK Hudik
13 18 229 48.93  Arne Fridh - Ingeborg Berglund 38647 93837 Sodderhamns BS
14 8 225 48.08  Carina Westlin - Sofie Westlin 12540 86222 Bollnds BK
15 1 223 47.65 Lasse Backstrom - Carina Sirberg 42277 39748 Sodderhamns BS
16 13 222 47.44  Kent Rudberg - Johnny Rosén 3220 13898 Soderhamns BS
17 10 215 45.94  Hans Wikstrom - Mats Pettersson 82693 11631 Sdderhamns BS
18 4 197 42.09  Torbjorn Stenman - Stefan Wistrém 92608 92607 Sdderhamns BS
19 14 196 41.88  Kjell Kéllman - Tore Bergner 33186 39958 Sodderhamns BS
20 12 151 32.26  Bertil Bengtsson - Hans Hedblom 47981 47980 Sdderhamns BS
1 495 Basta kontrakt 2 4 D543 Basta kontrakt 3 & KKn43 Basta kontrakt
Nord vK8 3v V =-140 Ost vE654 5¢ O =-400 Syd v 1073 2NTV =-120
Ingen ¢ K43 NS €97 ov + E108
#E98753 & ¢ v & NT #KKn9 & ¢ v & NT £984 & ¢ v & NT
4 D86 4 KKn74 N87 4605 4 K92 &« EKn7 N6 25414 41092 &E7 N545605
v E95 vDKn1062 S 8 7 4 6 5 v K87 v DKn9 S 62544 vE9% vKKn52 S54565
+Kn9875 ¢D O56 876 ¢+ KD10852 ¢ EKn6 o7 117 7 7 ¢ K752 ¢ D93 089878
#Knl10 #KD2 V56976 «10 #8542 vV 7117 7 7 #Kn73 #ED52 V89878
4 E1032 #1086 & D865
v 743 v 1032 vD84
+ E1062 +43 ¢ Kn64
*64 #ED763 »K106
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 3 3v 0-2 *6 100 180 00|10 11 3NO-2 *6 100 160 20| 1 19 3NV-2 a4 200 150 3.0
4 12 2vO= *6 -110 16,0 20|14 1 3NO-2 *3 100 16.0 20|14 2 3NO-2 a5 200 150 3.0
2 6 2v0+1 6 -140 70 11.0|17 5 3NO-2 *6 100 160 20|18 8 3NV-2 43 200 150 3.0
8 20 3y O= v4 -140 70 11.0|13 19 2NO-1 #3 50 11.0 70(20 9 3NO-2 a5 200 150 3.0
9 15 3v O= *6 -140 70 110|118 7 3NO-1 *6 50 11.0 7.0(15 10 INO-1 a5 100 10.0 8.0
10 11 3v O = *6 -140 7.0 110| 4 12 29 O= 48 -110 8.0 100| 3 7 INO= a5 -90 6.0 12.0
13 19 2v O+1 #6 -140 70 11.0| 2 6 2NV+1l 44 -150 50 13.0| 5 13 INO= 46 -90 6.0 12.0
14 1 2vO+1 6 -140 70 11.0|16 3 2NO+1 43 -150 50 13.0|17 6 INO= a5 -90 6.0 12.0
17 5 29 O+1 v4 -140 7.0 11.0| 9 15 3NO+1 T -430 20 16.0|11 12 2NO= 46 -120 2.0 16.0
18 7 2v O+1 &6 -140 7.0 11.0| 8 20 ANO+2 «T -460 0.0 180 4 16 24DS-2 +¢5 -300 0.0 18.0
4 & EKn2 Bésta kontrakt 5 & E92 Bésta kontrakt 6 & EKn Bésta kontrakt
Vast vD2 24 V =-110 Nord v ED92 54 N =650 Ost vKD 3v O =-140
Alla + 108652 NS + KD ov ¢ E1042
#Kn82 & ¢ v & NT #K752 & ¢ v & NT #K9532 & ¢ v & NT
4K8654 493 N57 5505 #1083 aD4 N 11108 1110 4 KD62 #1097 N7 6 456
v8 vKKn10964 S 4 7 5 4 5 vK10763 vKn54 S 11108 1110 vE965 vKn873 S76 456
¢ 74 + ED9 0858187 32 + E9864 023522 +D97 +K83 06 7 987
#K10953 #ED V 85885 #1063 »E98 V23522 #DKn #E64 V678987
« D107 4 KKn765 48543
vE753 v8 v 1042
+ KKn3 ¢ Kn1075 + Kn65
*764 #DKn4 #1087
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
11 12 3NO-2 »7 200 170 10| 4 8 3NN+2 &9 660 170 10| 6 1 24V-1 »2 100 18.0 0.0
20 9 44 V-2 *T 200 170 10|15 11 3NN+2 ¢4 660 170 10| 7 17 INN= aT 90 16.0 2.0
3 73v0-1 »7 100 13.0 50| 7 17 44 S+1 3 650 120 6.0(16 5 24S-1 *0Q -50 13.0 5.0
4 16 3NO-1 v3 100 130 50(16 5 44 S+1 ¢3 650 120 6.0(20 10 INN-1 v3 -50 13.0 5.0
5 13 2vO+1 &4 -140 9.0 9.0|20 10 44 S+1 3 650 120 6.0 4 8 2NN-2 v3 -100 10.0 8.0
14 2 2v0+1 v3 -140 9.0 9.0|12 13 3NN+1 ¢4 630 7.0 11.0(12 13 2¢v O= 43 -110 8.0 10.0
17 6 3NO= v7 -600 5.0 13.0(19 2 3NN+1 v4 630 7.0 11.0|18 9 INV+1l &3 -120 6.0 12.0
18 8 3NO= +3 -600 50 13.0(18 9 3NS= v3 600 40 140(15 11 3v V= 2 -140 40 140
15 10 4v O= *6 -620 20 160 6 1 24 N+3 ¢A 200 10 17.0|14 3 2y V+2 &9 -170 1.0 17.0
1 19 3NO+2 ¢5 -660 0.0 180(14 3 24 S+3 ¢2 200 10 17.0|19 2 2vV+2 vK -170 1.0 17.0
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7 4 KKn8 Basta kontrakt 8 4 D8732 Basta kontrakt 9 & EK982 Basta kontrakt
Syd vE64 6¢ V =-1370 Vast v K104 INT O =-90 Nord v93 ANT N =430
Alla 462 Ingen + K76 ov +53
#KKn854 & ¢ v & NT #102 & ¢ v & NT #D1085 & ¢ v & NT
4 E10976532 44 N706 24 4 Knl04 #EKS5 N6 7 6 6 6 a74 & Kn65 N 108 6 1010
vKn v K875 S706 24 v9762 vD85 S6 7666 vKKn7 vD10854 S 108 6 1010
¢ EKKn8 ¢ D7543 O 6 126 109 ¢ 95 ¢ EKn32 076777 ¢ EK764 ¢ Kn9 0356 33
»- #ED9 V 6 126 109 #EK83 #964 V76177F6 *974 K62 V356 33
D + 96 « D103
vD10932 v EKn3 vE62
+ 109 +D1084 +D1082
#107632 #DKn75 #EKn3
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 2 64DV-2 ©vA 500 170 10|15 12 INV-2 a2 100 180 00|19 4 3NS+2 +A 460 18.0 0.0
14 4 6aDV-2 ©vA 500 170 10| 7 2 INO-1 9 50 13.0 50|15 13 INS+3 +¢A 180 16.0 2.0
15 12 34 V+1 vA -170 140 4.0|10 18 INO-1 ¢4 50 13.0 50| 6 10 34 N+1 ¢ 170 11.0 7.0
10 18 34 V+2 &4 -200 120 6.0|11 20 INO-1 +8 50 13.0 50| 8 3 34 N+1 a5 170 11.0 7.0
13 1 5¢ O+2 4Q -640 10.0 80|17 8 INO-1 +4 50 13.0 50|16 7 34 N+1 ¢ 170 11.0 7.0
5 9 44 V+l &4 -650 50 13.0| 5 9 24 N-1 v5 -50 6.0 12.0|17 9 24 N+2 ¢J 170 11.0 7.0
11 20 44 V+1 ¢6 -650 50 13.0|13 1 2&#N-1 v5 -50 6.0 120 1 2 24 N+1 v4 140 4.0 14.0
17 8 44 V+1 &5 -650 50 13.0(19 3 2NS-1 LY -50 6.0 12.0| 5 14 24 S+1 +A 140 4.0 140
19 3 44 V+1l &4 -650 50 13.0|14 4 INV+1l 438 -120 1.0 17.0|12 20 24 N+1 v4 140 4.0 14.0
16 6 66 O+1 4Q -1390 0.0 180(16 6 INO+1 49 -120 10 17.0|18 11 24 N= +J 110 0.0 18.0
10 442 Bésta kontrakt 11 « E98 Bésta kontrakt 12 41098 Bésta kontrakt
Ost v 10764 3v S =140 Syd v 1084 24 O =-110 Vast vD8 44V D -1 100
Alla + K98 Ingen ¢ KKn10952 NS + Kn108732
#EKn83 & ¢ v & NT *5 & ¢ v & NT #83 & ¢ v & NT
« EKn965 4 D1083 N88 957 4 KKn73 4D105 N56 756 463  EDKn4 N498765
vD5 v Kn83 S89 957 vK73 vE2 S56 756 v 95 vKn72 S498765
+Kn743  ¢62 054485 +D7643 +E8 087587 ¢+ E64 495 094557
+D10 *K654 V54485 *3 #KKn10762 V 8 7 5 7 7 #EKKNn1092 #D765 V94457
& K7 4642 & K752
v EK92 v DKn965 v EK10643
¢+ ED105 .- + KD
#972 #ED984 *4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
19 4 4v S= aA 620 180 00|16 8 4v S= &3 420 180 00| 1 15 4aV-1 vQ 50 13.0 5.0
17 9 2vS+2 3 170 150 30| 1 15 34V-3 +5 150 160 20| 2 3 5&V-1 vQ 50 13.0 5.0
18 11 2v S+2 49 170 150 30| 5 19 3v S= »3 140 140 40| 7 11 4&V-1 vQ 50 13.0 5.0
12 20 3v S= *0Q 140 120 6.0 9 4 3NV-2 v4 100 11.0 70(16 8 4&V-1 +J 50 13.0 5.0
5 14 INS+1 &5 120 8.0 10.0(18 12 3NO-2 v6 100 11.0 7.0(18 12 4 V-1 vQ 50 13.0 5.0
6 10 INS+1 46 120 80 100 2 3 3#0-1 +Q 50 5.0 13.0|20 13 4a V-1 vQ 50 13.0 5.0
16 7 INS+1 45 120 8.0 100 7 11 3#0-1 vQ 50 50 13.0( 5 19 3« V= vQ -110 6.0 12.0
8 3 4vy N-1 6 -100 30 150(17 10 3#0-1 vQ 50 50 130 9 4 3#V+1l vQ -130 3.0 15.0
15 13 4v S-1 *0Q -100 3.0 150(20 13 3NO-1 3 50 5.0 13.0|17 10 4a V= vQ -130 3.0 15.0
1 2 3NS-2 a5 -200 0.0 180(14 6 INO= v5 -90 0.0 180(14 6 24 S-4 *K -400 0.0 18.0
13 4 EKN986 Basta kontrakt 14 4109 Basta kontrakt 15 4 KKn105 Basta kontrakt
Nord v D7 3v O =-140 Ost v E53 4¢ ND-1-100 Syd vE64 4v V =-420
Alla +3 Ingen + E653 NS * K2
#D10763 & ¢ v & NT #K1042 & ¢ v & NT #Kn653 & ¢ v & NT
# K103 & D742 N 9 3 35 5 | aKKn876542 4ED N9 96 44 aE87 494 N46 26 3
v54 vEKKNn108 S 9 3 3 5 5 v72 v KD986 S 88544 vK107 v DKn832 S46 26 3
¢ EKn1042 ¢ D65 049987 +9 ¢ K102 044699 + D954 ¢ EKn 09 7 107 9
#852 &4 V49 9 8 7 | 485 #DKn9 V44699 #E97 #D1084 vV 9 7 107 9
45 43 4 D632
v 9632 vKn104 v 95
+ K987 + DKn874 4108763
#EKKn9 *E763 *K2
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
9 16 3NV-2 *3 200 180 00| 3 4 54 0-2 v] 100 180 00| 8 14 2¢v O= +8 -110 18.0 0.0
8 12 44 S= *T 130 16.0 20| 9 16 44 O-1 ¢Q 50 11.0 70| 9 13 2v O+1 2 -140 14.0 4.0
3 4 2¢ V+1 &3 -110 140 40|14 7 44 V-1 &T 50 11.0 70(15 3 29 O+1 2 -140 140 4.0
19 6 3vO= a5 -140 120 6.0|15 2 4ea V-1 »2 50 11.0 7020 2 3vO= a2 -140 14.0 4.0
18 13 INV+2 48 -150 10.0 8.0|17 11 44 V-1 »2 50 11.0 7.0(18 1 INV+2 a5 -150 10.0 8.0
10 5 3v O+l 45 -170 7.0 11.0|18 13 44 V-1 +3 50 11.0 70(11 6 29y O+2 43 -170 5.0 13.0
20 1 3v O+1 45 -170 70 11.0|20 1 4a V-1 aT 50 11.0 7.0(12 17 3vy O+1 2 -170 5.0 13.0
14 7 INV+3 49 -180 3.0 150 8 12 2NO+2 +4 -180 40 140(16 10 3y O+1 43 -170 5.0 13.0
17 11 2NV +2 «8 -180 30 150(19 6 5#DS-2 +¢9 -300 20 16.0|19 7 2v O+2 42 -170 5.0 13.0
15 2 24 N-3 &4 -300 0.0 180(10 5 44 V+2 49 -480 0.0 180 4 5 4vV+1l ©vA -450 0.0 18.0
16 4109 Bésta kontrakt 17 & K10875 Bésta kontrakt 18 & K107 Bésta kontrakt
Vast v10 5¢ N =400 Nord v KKn86 5¢ O =-400 Ost v Kn5 6NT S = 1440
ov + K85432 Ingen 465 NS + KD72
#KDKn7 & ¢ v & NT *106 & ¢ v & NT #EK105 & ¢ v & NT
76432 « EDKn N6 114 5 9 43 & EKn9 N2 2574 4ED643 45 N 11119 1012
vKKn6543 v D8 S 7 114 59 v10972 D4 S2257 4 v 987 v K10642 S 11119 1012
.- + D76 06 28 8 4 ¢ EK107 ¢ DKn98 O 11118 6 9 + 108 4943 011431
#109 *E8642 V62883 #ED94  #KKn83 V 11118 6 9 #Kn73 #9842 Vi1i1l431
& K85 D642 & Kn982
vE972 v E53 vED3
+ EKn109 ¢ 432 + EKn65
#53 *752 #D6
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
19 7 64DO-6 ¢A 1700 180 00| 9 14 2v V-2 &T 100 180 00| 2 18 6NS= A 1440 18.0 0.0
9 13 5vDV-1 &K 200 16.0 20| 4 15 5¢ O-1 42 50 16.0 20| 9 14 3NS+4 3 720 16.0 20
8 14 3¢ N+2 4Q 150 120 6.0 2 18 4¢ O+1 +4 -150 140 40| 4 15 3NS+3 v8 690 10.0 8.0
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11 6 3¢ N+2 vQ 150 120 6.0|16 11 3NO= a2 -400 120 6.0| 5 6 3NS+3 &3 690 100 8.0
20 2 3¢ N+2 vQ 150 120 60| 5 6 3NO+1 &4 -430 70 11.0/10 1 3NN+3 ¢2 690 100 8.0
15 3 3¢ N+1 vQ 130 8.0 10012 7 3NO+1 &2 -430 70 11.0|16 11 3NS+3 &3 690 100 8.0
12 17 4v V-1 ¢+ K 100 6.0 12017 13 3NO+1 42 -430 70 11.0|17 13 3NS+3 &3 690 100 8.0
16 10 3NS-1 v5 -50 40 140(19 8 3NO+1 42 -430 70 11.0|19 8 3NS+2 &3 660 4.0 140
18 1 2vO= +9 -110 20 16.0| 3 20 3NO+2 &2 -460 1.0 17.0| 3 20 5¢ N= v9 600 2.0 16.0
4 5 3vV= &K -140 0.0 180|10 1 3NO+2 &2 -460 10 17.0|12 7 3¢ S= oT 110 0.0 18.0
19 D Basta kontrakt 20 » E654 Basta kontrakt 21 2 Kn76 Basta kontrakt
Syd vD1096 2¢ S =90 Vast v DKn95 3v N =140 Nord v 10974 54 O =-450
ov ¢ 743 Alla ¢ DKn103 NS ¢52
#E10942 & ¢ v &4 NT 3 & ¢ v & NT #Kn976 & ¢ v & NT
4Kn94  4K1032 N7 86 66 4 KKn872 4DI10 N549 46 410853 & KD94 N35323
vEK732 v5 S786 66 v 64 v83 S549 46 vKn632 vKD5 $35323
¢85 ¢ KKn102 065477 *72 ¢ EK9654 088387 ¢ Kn ¢ EK96 O 108 101110
*873 #KDKn5 V65477 #K1042  #EKn5 V88387 #EKD5 %43 VvV 108 101110
« E8765 293 aE2
v Kn84 v EK1072 vE8
¢ ED96 +8 + D108743
*6 «D9876 #1082
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
11 2 2v V-3 4Q 300 180 00| 5 15 4y S= *2 620 170 10|13 16 4v O= & A -420 170 1.0
515 2NO-2 +6 200 160 20|11 2 4v S= *7 620 170 10|15 6 44 0O-= vA -420 170 1.0
13 8 INN+1 &K 120 140 40|17 1 4¢DO-2 vA 500 140 40| 2 17 44 O+1 8 -450 100 8.0
6 7 2¢ S= vA 90 90 9.0|14 10 3¢ O-2 ¥vK 200 120 6.0|12 3 44 O0+1 ¢4 -450 100 8.0
17 1 2¢ S= vA 90 90 90| 6 7 3vS+1l 43 170 100 80|14 11 44 O+1 YA -450 100 8.0
19 9 2¢ S= vA 90 90 90|20 4 3vsS-= o7 140 8.0 10.0(18 4 44 O+1 ¥vA -450 100 8.0
20 4 2¢ S= vA 90 90 9.0|13 8 34 V- vQ 100 6.0 120|20 5 44 O+1 2 -450 100 8.0
14 10 14 S-1  +8 -50 40 14018 3 2¢ O= vA -90 40 140 1 9 3NO+2 ¢4 -460 3.0 15.0
12 16 24 S-2 vA -100 20 16.0|19 9 24 V= *Q -110 20 16.0/10 19 3NO+2 ¢7 -460 3.0 150
18 3 2NO= 46 -120 0.0 18012 16 44 V= vQ -620 0.0 180| 7 8 2¢DS-3 A -800 0.0 18.0
22 & EK84 Basta kontrakt 23 41062 Basta kontrakt 24 497 Basta kontrakt
Ost v 86 5NTSD-3-500 |Syd v DKn94 2NT S =120 Vast v 76 4¢ ND-1-100
ov ¢ K107 Alla ¢ Kn85 Ingen ¢ E8743
*K742 & ¢ v & NT SE42 & ¢ v & NT #10952 % ¢ v o NT
" - «DKn10753 N 6 7 0 6 9 aKD4 48753 N48657 4 EKn10654 & D832 N899 45
v KDKn975432 vE S77068 vE852 vK76 S58658 v42 v DKn8 S$89945
» Kn2 +D5 06 4 117 4 ¢9642 ¢3 08457 4 + 1065 * K2 053498
#»D6 #EKn105 V6 4 117 4 #KD  #Kn9865 V8 457 4 «83 *E764 V43396
4962 4 EKn9 4K
v10 v 103 v EK10953
+ E98643 ¢ EKD107 ¢ DKn9
#9083 #1073 #KDKn
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
15 6 4v V+1l 4A -650 180 0.0|14 12 1e V-2 vJ 200 170 10|15 7 44DV-1 +A 100 180 0.0
1 9 4vV+2 &4 -680 13.0 5.0(19 11 INV-2 *3 200 170 10|20 6 44 0-1 vA 50 160 20
7 8 4v V+2 aA -680 130 50| 2 10 2NS+2 v2 180 13.0 50| 2 10 4¢vS-1 48 -50 12.0 6.0
14 11 4v V+2 &A -680 13.0 50|15 7 INS+3 K 180 13.0 50| 8 9 4vS-1 A -50 12.0 6.0
18 4 4v V+2 &A -680 130 50|20 6 INS+2 ¢4 150 100 80|16 1 3vS-1 4A -50 12.0 6.0
2 17 49y V+3 v6 -710 6.0 12.0| 3 17 3¢ S= &K 110 70 110|13 4 34 0= *K -140 6.0 12.0
13 16 4v V+3 4A -710 6.0 120|13 4 3¢ S= &K 110 70 11014 12 34 O= &K -140 6.0 12.0
20 5 4vV+3 v6 -710 6.0 120| 8 9 2#40-1 vT 100 40 140|119 11 34 O= vA -140 6.0 12.0
10 19 6v V= v6 -1430 1.0 17.0(16 1 2 S= *K 90 20 16.0| 3 17 34DV= v7 -530 1.0 17.0
12 3 6y V= 4 A -1430 1.0 170 5 18 24DO= +A -180 0.0 180| 5 18 34DV= v7 -530 1.0 17.0
25 « E8765 Bésta kontrakt 26 s E72 Bésta kontrakt
Nord v6 6NT N =990 Ost v K8 4y O D -2500
oV + EK10 Alla ¢ EKn6
#EKD4 & ¢ v & NT #D9752 & ¢ v & NT
4 K3 492 N 12118 1212 495 « KDKn83 N 107 5 7 9
vE10942 vKn853 S 12119 1212 vD9732 vE104 S 107 579
+84 ¢ Kn975 012411 4108753 ¢ D2 036863
#6532 #1098 viz24a11 *4 #Kn63 V 3686 3
« DKn104 « 1064
vKD7 v Kn65
+ D632 ¢ K94
&Kn7 #EK108
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
16 2 64 N+1 7 1010 170 10| 9 10 3NN-= oK 600 170 1.0
17 4 64 N+1 49 1010 170 10|19 12 3NN= &K 600 170 1.0
3 11 64 N= 8 980 120 6.0|20 7 INN+2 &K 150 140 4.0
9 10 64 N= a2 980 120 6.0|13 14 24 N+2 &K 130 110 7.0
20 7 64 N= v3 980 120 6.0|17 4 3« N+1 &K 130 110 7.0
1 5 54 N+1 &T 480 40 140 3 11 24 N+1 &K 110 8.0 10.0
6 18 54 N+1 ¢3 480 40 14015 8 14 0-1 K 100 6.0 12.0
13 14 54 N+1 T 480 40 140| 1 5 3#N-1 &K -100 3.0 15.0
15 8 54 N+1 T 480 40 140|116 2 3NN-1 &K -100 3.0 150
19 12 54 N+1 3 480 40 140| 6 18 3NN-2 48 -200 0.0 18.0




